Math 176: The Algebra of Matrices
Given the matrices defined below, perform the indicated algebraic operation, or explain why it cannot be performed.
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10. 
(AD)F    [see #5 for AD]
A specialty-car manufacturer has plants in Auburn, Biloxi, and Chattanooga.  Three models are produced, with daily production given in the following matrix.

[image: image18.wmf]       Cars produced each day

                  Model K    Model R    

Model W

              

Auburn12100

Biloxi4420

Chatanooga8912
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Because of a wage increase, February profits are less than January profits.  The profit per car is tabulated by model in the following matrix.

[image: image19.wmf]    Profit per car

                January    February  

Model K

Model R

Model W

              

$1000$500

$2000$1200

$1500$1000
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a. Calculate AB.

b. Assuming all cars produced were sold, what was the daily profit in January from the Biloxi plant?

c. What was the total daily profit (from all 3 plants) in February?
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